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Solve the inequality. Graph the solution.

1. 8x>8 2 =2

3. =32> 1.6k 4. =>21

5. 1.55<—6.6 8 —=<3x
7. ~2p>10 B>
9, >4 10, ~2<14
11. —12>-9% 12— 17

Write the word sentence as an inequality. Then solve the inequality.

13. Five times a number is not less than 15.
14. The quotient of a number and 4 is less than —1.

15. An SUV averages 16.5 miles per gallon. The maximum average number
of miles that can be driven on a full tank of gas is 363 miles. Write and
solve an inequality that represents the number of gallons in a tank.

16. You arg creating a decorative rope that is at least 20 feet long.

‘ /

a. To create the rope/))ou arrle using beads that ale 67inch lovn‘gﬁ Writé and
s?(lv an iﬁeq,lali that repres%nts the ber of beads that {(jf(éadn use.
. You

0 nPth veenough 6-inch beads ake/the "op o0 you wilhuse
0-inch beads lgstead. Wrigq’ and sglve an/inequality that represents the
umberof 10-inch beads that yon gan use.
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